GRAMMAR REVIEW — PAST CONTINUOUS

@ Herber






[ What was he doing? ]

N

2 = He was riding a horse



[Wha’r was she doing?]

N

2 2 She was cooking



{Wha‘r were they doing?}

2 b They were eating fruit



What was he doing?

3
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3> He was climbing a tree



What were they doing?

2 & They were fighting



[Wha’r was she doing?] 1 ¥

2 2 She was dancing



2 & They were slee




[ What was he doing? ]

N

9 < He was playing the guitar



What was she doing?

N

2 S She was combing her hair



What was she doing?

3+ She was reading a book



[Wha’r was she doing?J

2 = She was playing the piano



{Wha‘r were they doing? [[NEEEEEGSEEENEEEE

29 o They were playing cards



9 = They were washing the clothes



|

9 b They were feeding the ducks



9 They were playing



=

[Wha’r was she doing?] =

N

2 2 She was writing



[Wha‘r were they doing? ““_'

2 & They were running



{Wha’r were they doing?J%
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2 2 They were sailing



[Wha’r was she doing?]

N

9 = She was drinking



What was he doing?

N

2 3 He was painting



What was he doing?

N

5 3 He was shouting



[ What was he doing? J

N

5 3 He was escaping



